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The property of a material by which it can be beaten or rolled into thin plates is called :

(a) Malleability  (b) Plasticity (c) Ductility (d) Elasticity

On heating, if one solid phase splits into two solid phases, the reaction is

(a) Eutectic (b) Eutectoid (c) Peritectic (d) None of these
Which phenomenon is not used in the measurement of hardness ?

(a) Indentation (b) Wear (c) Scratch (d) Fracture
Which of the following is the hardest constituent of steel ?

(a) Austenite (b) Bainite (c) Ledeburite (d) Martensite
Dislocations in materials refer to the following type of defect :

(a) Line defect (b) Point defect (c) Surface defect (d) Volumetric defect
Deformation that occurs due to stress over a period of time is known as

(a) Wear resistance (b) Fatigue (c) Creep (d) Fracture

Which of the following relation is stated by Hooke’s law within elastic limit ?
(a) Stress is directly proportional to strain.

(b) Stress is inversely proportional to strain.

(c) Stress is directly proportional to square of strain.

(d) Stress is inversely proportional to square of strain.

An example of amorphous material is

(a) Glass (b) Zinc (c) Lead (d) Silver
What is the value of eutectic temperature for Fe-C system ?

(a) 727°C (b) 768 °C (c) 1146 °C (d) 1495°C
The ability of a material to resist penetration by a harder body is known as

(a) Elasticity (b) Hardness

(c) Impact strength (d) Compression strength

Gun metal is an alloy of

(a) Copper, tin and zinc (b) Aluminium, lead and tin

(c) Lead, copper and tin (d) None of these

Highest percentage of carbon is found in .

(a) High carbon steels (b) Medium carbon steels

(c) Mild carbon steels (d) Wrought iron

Heat treatment is performed to

(a) make new products (b) improve properties of the materials
(c) paint the products (d) make smooth surface

TTT diagram means .

(a) Total Temperature Translation (b) Time Temperature Transformation
(c) Total Temperature Transformation (d) Time Temperature Translation
Fibre reinforced plastic is

(a) Alloy (b) Ceramic (c) Composite (d) Organic Polymer
In Euler’s formula, the column fails due to alone.

(a) Shear (b) Torsion (c) Tension (d) Bending

Series-A 2 AME



10.

11.

12.

13.

14.

15.

16.

gered (Gt 1 forraan fored g fiesht 31 Uet Thieh Uaet! wiel § ST ST Tehdl 8, 3H had &

(a) JE@Ed (b)) AR (c) a= (d) IRl

T A W, Ffe Teh o1 3N (Phase) &l o1& @23l § fawrior 81 St 8, a1 o8 ufafsran 2
(a) Zefesh (b) YFIEE (c) uRefdesh (d) 3T & IS TE
I o HTY H 9 H Tfsha1 <1 ST A& i1 & ?

(a) $SIE (b) Terma (c) U= (d) TR

T 0 O 379 1 A9 HEAX Th § 7

(a) LA (b) TS (c) Tesqrse (d) wréamse
YTl H HAHTEATE 1 TR o S bl Hefild il & -

(a) 134 QN (b) fergam (c) HagaM (d) e QN
ek Tfeaa srafy ° yfderer o s 89 a1t fersgor skl % ETH TS |
(a) Termme 1 gfeaier (b) oM (o) (c) shI (d) TheR

frefaRaa & & o a1 dee Teamee wmn % 1=t geh o o o g SamEn T g 7
(a) Wiaet forehfe o TRTIATH BT 2 | (b) wieet forehfe o SeHHTIAT BT 2 |
(c) Wfaaet ferehfet o ot & THIUTA BT 2 | (d) et faeefd o a7 o SeshATaTd 2ra1 3 |

STTERTL Tl T T IETET .

(a) (b) ST& (c) @ (d) =T
Fe-C gureft o fote e faees amaum s am @ g 7

(a) 727°C (b) 768 °C (c) 1146 °C (d) 1495 °C
fereft ShaR ] G USIH (SaIST) ShT Tehel <hl TS <hl &I b FHET AR |
(a) TCATEACT (b) AT

(c) SR FIfRd (Sraiea) (d) Efie wIfeR (srsrere)

TH et (urg) fasreng @

(a) dita, fo1 3R Stear shi (b) Tegfirfrm, Hia 3 foq

(c) e, diar 3 fea (d) 379 & IS T

HTsH o1 Tl Afrehad HEM2 |

(a) 3 h1eH T (b) HEIH HTe ST

(c) TG e 38T (d) Toeat wa

ST ITER % fotu feram STaT 2 |

(a) o SEgd M (b) Tere 3 T FEH

(c) TEGHT I U B (d) Taet Tag s M

AA&. (TTT) Fom 1 Hefere Bt &

(a) el ATIHM ZENH (b) EHI AT FAT=TT

(c) el ATIHM FY=LI (d) 9 AIHH ITHATH
 BER RS WIS § |

(a) Thzreng (b) Frfues (c) HEaITsTe e (d) Sferes Tiefimx
R o T3 H, HicTH 3Tkl % B fothel BIAT 2 |

(a) JTTEIU (b) TS (c) Re=ma (d) S

AME ' 3 Series-A



17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Which of the following is found out by calculating the area under the stress-strain graph ?

(a) Toughness (b) Hardness (c) Endurance limit (d) Strength
Which of the following is not a factor affecting fracture ?

(a) Stress concentration (b) Temperature

(c) Pressure (d) Speed of loading

Which of the following is a thermodynamics law ?
(a) Zeroth Law of Thermodynamics (b) Faraday’s Law of Thermodynamics
(c) Ideal Gas Law of Thermodynamics (d) Boyle’s Law of Thermodynamics

Which of the following is an intensive property ?

(a) Internal Energy (b) Temperature

(c) Mass (d) Volume

For which of the following processes, the work done is zero ?

(a) Isobaric (b) Isochoric (c) Isothermal (d) Adiabatic
Which of the following is different from others ?

(a) Zeroth Law of Thermodynamics (b) Second Law of Thermodynamics
(¢) Kelvin-Plank Statement (d) Clausius Statement

If a system undergoes a cyclic process, the change in its internal energy after one complete
cycle is .

(a) Positive (b) Negative

(c) Zero (d) Equal to the heat added

Which of the following is the Source Temperature of a Carnot engine required to get 70%
efficiency at sink temperature of 27 °C ?

(a) 1000 °C (b) 727 °C (c) 270°C (d) 90°C
What is the SI unit of Energy ?

(a) Newton (N) (b) Watt (W) (c) Joule (J) (d) Pascal (Pa)
Which of the following is the melting point of pure ice ?

(a) 273K (b) OK (c) 273K (d) 100K

Which of the following equation represent the second law of thermodynamics with usual
symbols ?

(a) dS=Tdo6 (b) d6=TdS (c) dd=dU+dW  (d) dU=d6 +PdV
Which of the following instrument is used to measure brake power ?
(a) Speedometer (b) Dynamometer (c) Calorimeter (d) Viscometer

Which type of engine primarily utilizes the Otto cycle ?
(a) Diesel Engine (b) Steam Engine (c¢) Gasoline Engine (d) Jet engine

Which of the following component is not typically found in a centrifugal compressor ?

(a) Impeller (b) Diffuser (c) Piston (d) Volute

Which of the following is a common type of rotary compressor used in HVAC system ?
(a) Scroll compressor (b) Axial compressor

(c) Centrifugal compressor (d) Diaphragm compressor

Series-A ' 4 AME



17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Sfcreret—ferpfer 7T % ST=Iq Qe Shl TUT Shteh T H & SR el @I ST 8 2

(a) dHSTH (b) 3T (c) TETIGa hl dH|T  (d) dqmehd
freferfaa # @ s |1 Sherat sl wTerd Shi SITelT Shieh &I & ?

(a) Sfas @Igar  (b) ATIHM (c) S (d) <t 6y i
=1 4 9 i =1 o ST S fRm g

(a) SSAWTIEhT ST ST (ST Fm (b) TS T FTI(eh! 7w

(c) STIRRT o1 3TTey g fram (d) Siaet 1 STl fem

7 1 8 o 1 0 T e @ 7

(a) AN Hl  (b) dM (c) ZEMH (d) 3T
foret & @ fopmr wfshan & foban ST el R SR BT 7 7

(a) HHET (b) TH-3EFARE  (c) TH-ATIE (d) &g
fefafgq i a s g afimg 7

(a) SSHATIEhT ST Iral =M (b) FeaTT(eeh! 1 fgdtar fem

(c) hicad-Tcieh HUF (d) AT B

e fopeft yoTTeht & weh =3kl Uik Biet 8, o Teh qUT sk o S1g §6eh! HATqReh SHall §
Ui BT 2 |

(a) HHNIHH (b) THRIHB (c) ¥ (d) STt TS 5T S SR
=1 T8 & H g1 1 39 o | o1 auaH 7, 98 27 °C 9ot e amame 9t 3Eeht gerdt 70%
T B ?

(a) 1000 °C (b) 727 °C (¢) 270°C (d) 90°C

ST <hl SI TS TR 7

(a) =T (N) (b) a7 (W) (c) ) (d) 9TEhd (Pa)

7 3 0 7 =1 3§ % T T § ?

(a) 273K (b) OK (c) 273K (d) 100K

T fieton © | O TTERoT Tditent o T SR o fedia M e ¢

(@) dAS=Td0  (b) dO=TdS () d0=dU+dW (d) dU=d0+PdV
T o @ s 1 Ut sk Wifed =h1 Ao o fote y=m feram ST 8 2

(a) TSI (b) SRHMIR (c) hARHIET (d) faenmiex

ford TehT o SoT § TTITeh &9 § 37721 sk <1 ITAN BT & 7

(a) SSASSH  (b) WIISSH (c) el S (d) e oM
Frafafga 0 @ & o1 g Th 3d] Tiiees (HUET) T qHIG: T&l I a1 e ?

(a) 3R (b) o (fedss)  (¢) o (d) afexe

Frafafiga 59 = @1 U HVAC Jorelt | 39am fomd S aTel Tedt shesier <l 9= JehR 8 ?
(a) ThA ST (b) 31fiT HEER (c) JTUFZI FEX  (d) STATHIH HEE

AME 5 Series-A



32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

What is the compression ratio of an Otto cycle typically ?
(a) Less than 01 (b) Between 01 and 05
(c) Between 05 and 12 (d) Greater than 12

Which of the following statement about thermal radiation is true ?
(a) It requires a medium to propagate.

(b) It always travels at the speed of light.

(c) It is only emitted by sun.

(d) It cannot be absorbed by surfaces.

What is the specific heat ratio (y) for air in the Diesel Cycle ?

(a) 0.5 (b) 1.0 (c) 1.4 (d) 2.0
Which of the following materials is the best insulator ?

(a) Aluminium (b) Glass (c) Silver (d) Rubber
Which of the following is an example of forced convection ?

(a) Wind blowing over a hot surface (b) Heat transfer in a still room

(c) Heat transfer in a vacuum (d) Warm air rising from a heater

What is the primary function of a heat pump ?
(a) To generate Electricity

(b) To cool down the surroundings

(¢c) To transfer heat from one location to another
(d) To store thermal energy

Which of the following type of device is used in domestic refrigerator working on vapour
compression cycle ?

(a) Thermostatic valve (b) Capillary tube

(c) Manually operated valve (d) None of these

The clutch is located between the transmission and the
(a) Rear Axle (b) Differential (c) Propeller shaft (d) Engine

In trucks, the system of wheel braking employed is
(a) Pneumatic (b) Hydraulic (¢) Mechanical (d) Electronic

In a four stroke cycle petrol engine in suction stroke
(a) Only petrol is sucked in

(b) Mixture of petrol and air is sucked in

(c) Only air is sucked in

(d) None of these

A diesel engine is usually more efficient than a petrol engine because of
(a) Knock free operation (b) Proper air-fuel mixing and combustion
(c) High compression ratio (d) High calorific value of diesel fuel

The knocking tendency in petrol engine will increase when
(a) speed is increased (b) speed is decreased
(c) fuel-air ratio is made rich (d) fuel-air ratio is made lean
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In a petrol engine the delay period is of the order of :

(a) 0.002s (b) 0.02s (c) 0.025s (d) 0.03s
The knocking tendency in CI engines increases with
(a) Increase of compression ratio (b) Decrease of compression ratio

(c) Increasing cooling water temperature (d) Increasing the temperature of inlet air

The basic requirement of a good combustion chamber is :
(a) Low compression ratio

(b) Low volumetric efficiency

(c) High power output and high thermal efficiency

(d) High compression ratio only

The level of oil in engine cylinder should be checked when the engine is

a) Not runnin b) Runnin ¢) During startin d) During Crankin
g g g g g g
Compression ratio of the engine is given by
- v Vv vV _+V_.
(a) r= min (b) r= max (C) r= average (d) r= max min
Vmax Vmin Vmax 2
The lightest and most volatile fuel is
(a) Gasoline (b) Kerosene (c) Diesel (d) Fuel oil

The minimum amount of air which supplies the requisite amount of oxygen for complete
combustion of fuel is called

(a) Lean mixture (b) Idling mixture

(c) Starting mixture (d) Stoichiometric mixture

Due to prolonged application of brakes, the effectiveness decreases, this is called :
(a) Brake binding (b) Brake fading

(c) Brake compensation (d) Brake bleeding

Suggest the type of spring widely used for suspension system in the light and heavy
commercial vehicles.

(a) Coil springs (b) Semi elliptical leaf spring

(c) Torsion bar (d) Tapered leaf spring

Which of the following is not associated with the leaf spring of the elliptic type ?

(a) Eye (b) Leaf (c) Shackle (d) Wish bone

A torsion bar used in the suspension system of an automobile is also known as

(a) Strut rod (b) radius rod (c) Panhard rod (d) Stabilizer rod
Which is the core element of a suspension system ?

(a) Ball Joints (b) Control Arm

(c) Springs (d) Wheel spindle assembly

Identify the gas used in modern shock absorbers :
(a) Oxygen (b) Hydrogen (c) Nitrogen (d) Carbon dioxide

The following is not a friction clutch :
(a) Flui_d clutch (b) Centrifugal c_lutch (c) Cone clutch (d) Disc clutch
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The term caster is associated with

(a) Suspension System (b) Transmission System
(c) Braking System (d) Steering System

The tilt of the front car wheels from the vertical is called

(a) Camber (b) Caster

(c) Slip Angle (d) Steering Axis Inclination

What should be the approximate amount of toe-in in a car ?
(a) 1 mm (b) 3 mm (¢) Smm (d) 8§ mm

Which of the following exhaust gases produce least harmless components after its
combustion ?

(a) Carbon monoxide (b) Ethyne

(©) N, (d) NOy

Leaf spring is a

(a) Laminated spring (b) Coil spring

(c) Torsion bar (d) Air and Gas spring

The camber should generally lie in the range of

(a) Lessthan 1 degree (b) between 2 and 3 degree

(c) between 4 and 6 degree (d) between 7 and 8 degree

The extent of tyre life, ease and safety and control of vehicle is/are affected by
(a) Tyre pressure only (b) Tyre rotation only

(c) Wheel alignment only (d) All of these

The wheel that cannot be used with tubeless tyre is

(a) Wire wheel (b) Disc wheel (c) Light alloy wheel (d) Composite wheel
The central gear of an epicyclic gear set is called a :

(a) Sun gear (b) Ring gear (c) Internal gear (d) Planet gear
The component of torque converter that allows multiplication of torque is the

(a) Impeller (b) Turbine (c) Stator (d) Pump
Most popular manual steering gears for cars today is

(a) Cam and Roller type (b) Rack and Pinion type

(c) Worm and Wheel type (d) Worm and Nut type

The following is not the component of Water Cooling System :

(a) Radiator (b) Thermostat (c) Connecting hoses (d) Oil pump
Which of the following is not the cause of overheating ?

(a) Lack of Coolant (b) Non-operating Thermostat

(c) Incorrect valve timings (d) Correct ignition timings

A six cylinder four stroke diesel engine develops 125 kW at 3000 rpm. Its brake specific
fuel consumption (bsfc) is 200 g/kWh. Fuel consumption per hour is —

(a) 25kg (b) 30kg _ (c) 35kg (d) 40 kg
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e “ohtel” dTed o fohd o g omafRa g 2
(a) Teteq yomelt  (b) TSmO gomett (c) SIfehT JoTTeft (d) =hafar yoredt

TTEH o TS IFeT <l el & FehTdl T HgaATdl & 7

(a) HFR (b) HEX (c) feea o (d) Hton 1 gepa
-3 TorH) ST BT T et BT =igT ?

(a) 1 mm (b) 3 mm (¢) 5mm (d) 8 mm
TFrafaftaa 0 9 = @ e T 319 <8 & 91 98 %Y BT Reh Heshi sl ScTe hidl § 7
(a) I HAIATFATES (b) SUTEH

(©) N, (d) NOy

ufier A 8

(a) SRS B (b) Feoiier f&m (c) TSR (d) 719 g f&m
AT e fe o6 <= 8 g =i

(a) 1fefta=n (b) 233 fefth«fimad

(c) 43Mefafimdiay (d) 73mgfafiwdiay
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(a) Hadl TRR T (b) ha TR FOH

(c) hac Ufgd T TXEI (d) @t

IS Ted Trr o |y e afgen T2 SR 4 e S e
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(a) T TiRR (& firR) (b) for firr

(c) 3T fiRR (d) U8 (=ie) firr

- 3T Sacieh Sl 98 3TeRIe S &1t - 3TV i 0T S 3h1 STTANT G LT &

(a) 3R (b) TeITEH (c) ®BA (d) 7=

TSR T8 SIS T=Ifeld 85 dfeld ST R fIRR 8

(a) 7 g UK THR h (b) T 9 Ul TR &

(c) o o ufgan TR &% (d) I° 97 TR 5

e ST Sfide oreft o1 STaue T8l B

(a) s (b) YHTL (c) AT B (d) ot T

e o § o 3= AT T RO AR & 7

ORISEEEIET] (b) YHTELE BT B T T

(¢) TTeTd dTed BT (d) I St Tt TgiEm

e : ffeist aquema Eisiet 919 125 kW, 3000 rpm W 3ca=T LT g | 3eh! sieh fafimse gem
I @I 200 g/kWh & | 3¢9 <t @ Ui &eT 2
(a) 25ke (b) 30 kg (©) 35ke (d) 40 kg
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82.

83.

Engine friction is determined by

I —Morse Test

II — From I.P. and B.P. measurements

IIT — Willan’s line method

Which of the following statement is correct ?

(a) Only statement I is correct. (b) Only statement I and II are correct.
(c) Only statement II and III are correct.  (d) Statement I, IT and III are correct.

According to fitting of engine the chassis is classified as
(a) Engine at front (b) Conventional chassis
(¢) Semi forward chassis (d) Full forward chassis

Choose the incorrect statement from the following :
(a) Main crankshaft bearings need Lubrication

(b) Big end bearings need Lubrication

(c) Timing gears need Lubrication

(d) Valve mechanism does not need Lubrication

Identify the best cross section for resisting bending of longitudinal members :

(a) Channel section (b) Tubular section

(c) I-section (d) Angle section

The short turning radius results when the frame at front is

(a) narrower than the rear (b) equal to the rear

(c) wider than the rear (d) lighter in weight than the rear

Average speed of piston is
where : L = Length of stroke
N = speed of engine in rpm

(a) LN (b) 2LN (¢) 3LN (d) 4LN
Which of the following is not a part of Chassis ?
(a) Wheels (b) Differential (c) Gear Box (d) Seats

An I.C. engine is called a square engine when its
(a) Length of stroke = Bore of Cylinder  (b) Length of stroke < Bore of Cylinder
(c) Length of stroke > Bore of Cylinder  (d) Length of stroke = 2 % Bore of Cylinder

Which of the following is not a fuel Injector ?

(a) Blast injector (b) Mechanically operated injectors
(c) Automatic injectors (d) Carburettor

In motor cycles fins are provided for

(a) Higher efficiency (b) Good appearance

(c) Better cooling (d) Higher strength of cylinder
Lateral bending of the frame side member may be caused on account of

(a) Side wind (b) Engine torque

(c) Braking torque (d) Weight of passengers

The basic method/methods of generating swirl in a CI combustion chamber is/are :
(a) Induction swirl only (b) Compression swirl only

(c) Combustion induced swirl only (d) All of these
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(a) 3Tk qeTa o forw (b) 3T M & forw
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(a) TS & (b) 3 et TTepet
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In an automobile the magneto is basically
(a) A.C. Generator (b) D.C. Generator  (c¢) Transformer (d) Capacitor

Due to which of the following, violent sound pulsations within the cylinder of an I.C. engine
are caused ?

(a) Heavy supercharging (b) Heavy turbulence

(c) Detonation (d) Pre-ignition

The basic requirements of a catalytic converter are
(a) High surface area of the catalyst only (b) Good chemical stability only

(c) Low volume heat capacity only (d) All of these
In petrol engines the method of governing employed is :
(a) Hit and miss governing (b) Quantity governing
(¢) Quality governing (d) None of these
Lubrication system used for I.C. engine is
(a) Wet sump lubrication system only (b) Dry sump lubrication system only
(c) Mist lubrication system only (d) All of these
The electrical system is part of
(a) Chassis only (b) Body only
(c) Chassis and Body both (d) None of these
During which of the following operating conditions the engine needs a lean mixture ?
(a) Starting (b) Idling (¢c) Cruising (d) Accelerating
In the presence of which gas, fuel is burnt to generate energy in the form of heat ?
(a) Oxygen (b) Hydrogen (c) Methane (d) Nitrogen
is the measure of density of oil.
(a) Specific gravity (b) Film strength
(c¢) Adhesiveness (d) None of these
What is the nature of combustion in spark ignition engine ?
(a) Heterogenous (b) Laminar
(c) Homogenous (d) Intermittent
Gasoline engines are than diesel engines.
(a) heavier (b) lighter (c) more costly (d) None of these

is the first phase in obtaining proper mixing of fuel and air in the combustion
chamber.
(a) Vapourization (b) Atomisation (c) Carburation (d) Ignition

Which of the following is not an advantage of LPG as a motor fuel ?
(a) It is cheaper than gasoline. (b) It is knock resistant.
(c) It gives better manifold distribution.  (d) Residue and oil contamination is large.

Write the names of the following chemical formulae in order :
CgH,¢, C,H,¢, CH;OH, CH,

(a) dodecane, octane, methyl alcohol, methane

(b) octane, dodecane, methyl alcohol, methane

(c) methane, methyl alcohol, dodecane, octane

(d) methyl alcohol, methane, dodecane, octane
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Teh HTCHEEA H HHIC] Joid: 81 & :

(a) TH. (A.C.) A= (b) €. (D.C.) A=
(c) TFHBIR (d) A

1 o 9 forem 3Tade so o fafoue 4 a1fa dig s sra= 8 & 7
(a) STcATIH GUTRTISHT (b) 3Tcaersh faggsy
(c) Aferme (d) gE-saem

Teh Sheeifdeh Thralcd hl TEIyd STEvIhar &

(a) hacl AT T M ! SAHe (b) o DT TEIh TR
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(a) f&e wa fir oo (b) TTATHS =0T

(c) TrerT T (d) 3T T I T

Jdcg 39 o foru fer ©rg gorreft w2 4 &8 St 2

(a) Hael I T T YUITeft (b) I [k FF TG T
(c) heret firee et sorredt (d) A=h

ferega worreht Wi g @

(a) hael AT AT OEEEESE

(c) <IftrE Tt gt b1 (d) T § i3 T

Tepeft 399 & g THeIoT <1 SIRT e ST BT 7
(a) WidMHama  (b) smsfefem s ama  (c) HTHaH (d) e AT o qHY

Torm T <hi Sufefa 1 S o S WSS ITed Bt 8 7

(a) SATFHTH (b) BIESISH (c) ™A (d) TSI
TA S TAT HIATE | . ‘
(a) Tl @ (b) Tohew it wifaa (c) SR (d) 399 T HIE Tl
TTeh M ST 4 g&H shi Sehd 1 81l 8 7 .
(a) Toardi (b) wAfFR (c) TSI (d) AU
I 3o, STt $o1 <l et 8 AR |
(a) W (b) B (c) SETHTAa () 30 A B &I
TEH eI § S8 3T g1 o Ifua firsror o1 ared s J uget =1 2|
(a) TSI (b) TTHTILERITT (c) HIGEH (d) S
TH AR S ST A A H A R LPG R AH TR & ?
(a) I8 N B HEar g | (b) g e YfeRITh B |
(c) I8 Sgd Hfipice faqur e 2 | (d) rafime 3 oet Heuo Sf 7 |
e T2 21 g1 6 shmeR AT SaTsd

CgH, s, C},H, ¢, CH,OH, CH,
(a) SISehd, 3TdeH, TheTse Uoehlarar, MAT (b) 3TaeH, Sieehd, HUTSe Tehiatat, WM
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A gasoline fuel with high octane number has
(a) more tendency to knock (b) less tendency to knock
(c) nothing to do with knocking (d) reduces nitrogen in burning

What does the following signal mean ?

White Background
]/[ Red Border
Black Symbol
(a) The road goes down (b) Flat way ahead
(c) Block ahead (d) Narrow Bridge ahead

What does the sign shown below represent ?

Red Border
White
Blacl 1
Background ok Eyuibe
(a) One way traffic (b) Right Reverse Bend
(¢) Loose Gravel (d) Slippery Road
In India, Yellow and White colours on a milestone indicates
(a) National Highway (b) Rural Road
(c) State Highway (d) Major District Road
What is the minimum age limit for driving 50 cc vehicle at public place ?
(a) Upto 16 years (b) More than 16 years
(c) More than 18 years (d) More than 21 years
Heavy goods vehicle means any goods carriage, the gross vehicle weight of which exceeds
(a) 18000 kg (b) 12000 kg (c) 20000 kg (d) 25000 kg
BIN Cards are used in keeping record of
(a) Machine utilization (b) Entry/Exit time of workers
(c) Material storage (d) Man power
Necessity for registration is provided under which Section of Motor Vehicle Act ?
(a) Sec. 29 (b) Sec. 39 (c) Sec. 40 (d) Sec.41
What is the shape of a mandatory traffic sign ?
(a) Circular (b) Rectangular (¢) Triangular (d) Square

The maximum period of registration of vehicle is
(a) 10 years (b) 15 years (c) 20 years (d) 30 years

Which of the following is the standard format for recording defects in a vehicle at a service
station ?

(a) Job Card (b) Vehicle Manual

(c) Log Book (d) Maintenance Manual
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Layout of Garage usually used

(a) Product Layout (b) Process Layout

(c) Center Layout (d) Both (a) and (b)

How long a learning license can be used ?

(a) 4 months (b) 6 months (c) 8 months (d) 10 months
For transport vehicle, which certificates are required ?

(a) Driver License (b) Registration Book

(c) Insurance Certificate (d) All of these

Zebra Crossing on a road is used for
(a) Motor Cycle (b) Car (c) Walking (d) Both (a) and (b)

What is the condition to obtain permanent license for driver ?
(a) Already learning license (b) Residence (proof)
(c) Certificate for Age (Min 18 years) (d) All of these

Book-keeping mainly consists of part of the accounting process.

(a) Auditing the books of accounts (b) Recording financial information
(c) Preparing financial statements (d) Analyzing

Purchasing criterion consists of

(a) Price only (b) Quality only
(c) Delivery speed only (d) All of these

is the co-ordination of all purchasing activities for the entire plant through one
central location.
(a) Centralized purchasing (b) Decentralized purchasing
(c) Localized purchasing (d) Outsourced purchasing

It is compulsory for all car drivers to carry what type of insurance ?
(a) Breakdown (b) Comprehensive (c¢) Medical (d) Third Party

What is the minimum age limit for driving a motor vehicle in public place ?
(a) 18 years (b) 21 years (c) 12 years (d) None of these

Vehicle owner under Motor Vehicle Act means .
(a) the person investing money for the purchase of vehicle
(b) the person who is having possession of vehicle

(c) Registered Owner

(d) Authorized Driver

Which one of the following cannot file an application for compensation ?
(a) The person who has suffered

(b) Agent of the person who has suffered

(c) Friend of the person who has suffered

(d) Legal representative of the person who has suffered

. Driving license is made by

() RT.O. (b) ARO. (©) DM. (d) AD.M.
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109. TS &1 @ehT I1=&: TANT fomar STrn 2

(a) ITUTCH WThT (b) TfsHaT @TehT
(c) 5 @I (d) QM (a) 3R (b)
110. < wredi frde gwa o fu ar=r gar @ ?
(a) 4418 (b) 64H1E (c) 8HIE (d) 10418

111. TEUTE STEH o 1T shiH & THIO-T shi STTEgehel B & 7
(a) TTCTh AREH  (b) ITEIH T (c) ST yHTOT-uR (d) I Tt

112. TS G SEU SHITHT Rl T fohan SITaT 8

(a) I AEfhet o fory (b) R foTw
(c) et e = et (d) T (a) 3 (b)
113. <Tcieh o foTU TATS ATSHY T ohid hl &1 31 Bl 8 7
(a) AT ATSHE A W & (b) Tem (smor)
(c) 3T SHIU-U (][ 18 I¥) (d) Jaft
114. SE@ETAT Ughd § &7 €9 T oi@ieh Tfha1 1 T IMHA & |
(a) TTAT ST&AT T oGl TeTo ORESEEEERTcackeTe)
(c) et feremor Qam e (d) fagerso

115. 3 AHeS | e 2
(a) HAADBTA  (b) <hae Tl (c) ad faaornfa  (d) Jaeft

116. Tl E9A o foT Ueh et T & |t 37 Tfafafem o1 s e g |
(a) FEpa @l (b) fordimpa @i (o) WHERd @i (d) =™ @l
117. G+t R =TeTehi o 1T fore TehR o6 STHT 1 ST HATETTH © ?

(a) W% (b) foreqa (c) Taferean (d) qtauE
118. TSI LA W HIeT AT T o foft =aq 3y o g 2
(a) 18 o (b) 2199 (c) 129 (d) TH I HiE T

119. T IT& HATfom o Tgd aTe- LTt 1 372 8l 8
(a) I8 Saferd ST AT 6l @lig H o T FHaT H @2 |
(b) a8 =fad frEreh UTE aT8 =1 T 7 |

(c) USTieha aTeH Tt

(d) wTfreRa =TeTeh
120. =1 5 T S g9 % foIw 31ee e I Thar g 2

(a) difea =t (b) hfea safea 1 wfeff

(c) ifsa =afea = firm (d) hfea safed 1 s gl
121. STEfaT ATgEd fehdeh gRI SATT STaT | 7

(a) A3 (R.T.0)) (b) T3 (A.R.O.)

(c) SLUH. (D.M.) (d) TEL.WH. (A.D.M.)
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Which of the following is commonly used in product layout ?

(a) Pedals (b) Hand lifts (c) Fork lifts (d) Conveyor systems
For learning license which tests are required ?

(a) To start the vehicle (b) Use of clutch, gear box

(c) Give signal through hand (d) All of these

RTO Form No. 2 is used for

(a) Medical Certificate (b) Application for learning license

(c) For duplicate certificate of registration (d) For no objection certificate

Under which Section of Motor Vehicle Act the state government has been empowered to
frame rules ?

(a) Section 110  (b) Section 109 (c) Section 111 (d) Section 26

Change of residence or place of business is provided under which Section of Motor Vehicle
Act?
(a) Section 48 (b) Section 49 (c) Section 50 (d) Section 51

The term unladen is indicative of

(a) Weight of the vehicle without passenger and cargo

(b) Weight of the vehicle when its body is removed

(c) Weight of the passengers a vehicle can carry

(d) The maximum operating weight of vehicle without trailer

Suspension of registration is provided under which Section of Motor Vehicle Act ?

(a) Section 53 (b) Section 54 (c) Section 55 (d) Section 56
A slider crank mechanism is a special case of a

(a) 3-bar mechanism (b) 2-bar mechanism

(c) 6-bar mechanism (d) 4-bar mechanism

Which of the following are the main functions of a flywheel ?
(a) Store and release energy only

(b) reduce power capacity of electric motor only

(c) reduce amplitude and speed fluctuation only

(d) All of these

A V-belt sleeve of pulleys normally have a groove angle of
(a) 50°-65° (b) 20°-30° (c) 35°-40° (d) 15°-20°

Two intersecting co-planar shafts are connected by
(a) spur gearing (b) helical gearing (c) bevel gearing (d) spiral gearing

The size of the gears are usually specified by
(a) diametrical pitch (b) pressure angle
(c) circular pitch (d) pitch circle diameter

A mechanism that is often used to transmit rotary motion between two non-parallel but
intersecting shafts is called

(a) Hook’sjoint (b) Knuckle joint (c) Ball joint (d) Spiral gearing
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Teh TATSE sheh TohaTfarfer =hT foreiy wepr 2

(a) 3SR frnfafy (b) 2ar bRty (¢) eamfrfafas  (d) 4-ar Srenfafey
TiferTersh Tk G FRI BT A E 7

(a) hadT H1 bl HSRUT 3T ferdey +Hiar 2 |
(b) haet Torg]a It <hl ST i S T & |
(c) ThaoT ITRETH TR (T o ITX-TGTe bl HH AT & |

(d) 3Tt

foreft 3 <ff (V) U o Tefia 1 ARG 39 i Kk

(a) 50°-65° (b) 20°-30° (c) 35°-40° (d) 15°-20°

?ﬁ Hl?1'ci9<‘:| HI-TR (Co-planar)?lTCEYfTﬁ WGﬁETW% |

(a) TR firfar (b) e fimfer (¢) sa« fimfar (d) TTEe firta

TR =1 AR (A1) FHT: g ffése fpa i 2 |

(a) = U= (b) TTE B (c) I fo= (d) = ga=m|

Teh UHT SOTTeA! ST G ST, STl SHITHR 781 & T Tsh-GE %l ShId &, o Hed FUf TTid shl =i
T g TR ST HY AT B, HEAT 2 |

(a) gHE IS (b) ket SiTe OIEISEIS (d) SIS Sitg
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135. Natural frequency in Hz of free longitudinal vibration is equal to which of the following ?
Where g = acceleration due to gravity

m = mass
s = stiffness
1 |g I |s 0.4985
a) —.[= b) —.— c d) All of these
(a) 27[\/: (b) o\ (c) 7 (d)

136. What is the effect of centrifugal force on the vehicle ?
(a) More balanced situation
(b) No effect on stability
(c) Engine speed of the vehicle decreases
(d) Try to overturn the vehicle

137. If a system is dynamically balanced, then
(a) Statical balancing is not satisfied
(b) Statical balancing is partially satisfied
(c) No effect on statical balancing
(d) Statical balancing is automatically satisfied

138. A reduction in amplitude of successive oscillations indicate vibration.

(a) natural (b) damped (c) forced (d) free
139. Atresonance, the amplitude of vibration is

(a) Zero (b) Small

(¢) Very large (d) Depends upon frequency
140. Oils are used as

(a) Friction damper (b) Viscous damper

(c) Dynamic damper (d) Static damper
141. In critically damped vibration system, damping ratio (&) .

(@) £=1 (b) £>1 (c) £<1 (d) E=o
142. The purpose of link is to

(a) transmit motion only (b) guide other links only

(c) act as a support only (d) All of these
143. Which of the following is a lower pair ?

(a) Ball and socket only (b) Cam and follower only

(c) Piston and cylinder only (d) (a) and (c) Both
144. Coriolis component of acceleration is encountered in

(a) Higher pairs (b) Lower pairs

(¢) Whitworth quick return motion (d) Four bar mechanism

145. A typewriter constitutes a .
(a) Inversion (b) Structure (c) Mechanism (d) Machine

146. Hooke’s joint is used for connection two shafts which are .
(a) Coaxial (b) Parallel (c) Intersecting (d) None of these
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135. o e I hl TTehfde TR &St (Hz) H 1 o & fopges stet @ ¢
SR, g = TEcaTRNI @

m = gIHH
s=§i‘@?ﬂ
1 [g 1 [s 0.4985
(a) H\E (b) %‘E © = (d) 3@t
136. TTET o HUX AThes [T 1 b1 941 IHE BIAT & 7
(a) 3freh Tgfora feufa st 2 | (b) T <hl TTEAT H I3 TG T2 Bl B |
(c) e o g5 bl i fR BN 2 | (d) SITE o TALH T I LT 2 |

137. =fe us yoneft iiehia €9 & Tgferd & a9
(a) T HYeT H Hgfee T 21ft 2 |
(b) TAferh e <l Tfee ifeh T A B 2 |
(c) ¥fcreh Her T IS Te Tl €I @ |
(d) =fcreh T Td: IS BT R |

138. itk loil o AT T hHl I ] ST & |

(a) ST (b) Ferifed (c) Sofed (d) g
139. 371G 6 et § a1 ST BATR |

(a) A (b) =pH

(c) 3TcAfereh (d) 3mafa R g |
140. I 1 3TINT FEIH AT |

(a) OYU AgHCH  (b) Tomfadt staes () Tioeh staes (d) R saves
141. Shifeh JTEHICT HET~ JUTTel! H 3TaHE 3TITA (§) BT g |

(@) £=1 (b) £>1 (c) £<1 (d) E=w
142, Toish 1 3e™ 21
(a) hael Tid TR HET (b) et 3= fefeh b1 ANTEIH AT

(c) hadT MR (FU) HI A HE BT (d) F &
143. AT S AT AR IR R ?

(a) had ST 3T Giche (b) Hael HH TR BTeATE
(c) haet fure 37 faferuet (d) (a) @ (c)qMAt
144, =1 9 9 forad wwor <1 SHINGATTTE T2 T STar 3 7
(a) 3= AL (FRRTN) (b) =1 Y (AR W)
(c) Torcadd forreh it Hrem (d) =R e frfat
145. @dlsq{lsdaﬂ‘ldﬂ% )
(a) Sfdet= (b) TGEAT (W) (c) feramfarfer (d) W=
146. o I T ITINT €I IATH bl e § BT 8, A 2
(a) THTEN (b) THFTR (c) FM-Taums  (d) 99 T HIS &l
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147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

Effective tension on tight side (T,) and slack side (T,) considering the centrifugal tension
(To) is .

(@ (T,-Tp) & (T,~Tp) (b) (T, +Tp) &(T,-Tp)

(©) (T, +Tp) & (T, -2T) (d) (T, +Tp) & (T, +Tp)

Angle of contact on bigger pulley is than that of smaller pulley if belt is cross belt.
(a) more (b) smaller (c) equal (d) None of these

In a simple gear train, the direction of rotation of odd gears will be of 1% gear.

(a) opposite (b) same

(c) cannot say (d) same and opposite, both may be

In a Kinematic chain, which of the following relation is true ?
Where /= No. of links
p = No. of pairs

(a) I=2p—4 (b) I=2p+4 (c) I=p+2 (d) /I=p-2
Ackermann steering mechanism has .

(a) Only sliding pair (b) Only turning pair

(c) Both (a) & (b) (d) None of these

In a hydraulic brake, motion is transmitted through link.

(a) Rigid (b) Flexible (c) Open (d) Fluid
Tractive resistance during the propulsion of a wheeled vehicle depends on :

(a) Road resistance (b) Aerodynamic resistance

(c) Gradient resistance (d) All of these

If the axes of first and last gear of a gear train are co-axial, the gear train is known as
(a) simple (b) epicyclic (c) reverted (d) compound

For maximum power transmission, the velocity of belt is
(All symbols have their usual meaning.)

T T T 1T
(a) \/% (b) ‘/% (c) ‘/3:m (d) S ‘/%

The total number of instantaneous centres of a mechanism having n link is

n(n—1) n-1 n(n+1) n+1
(a) E— (b) 3 (c) — (d) 5

The relation 5 e"?, the angle 6 made by the belt is on

T,
(symbols have normal meaning.)
(a) smaller pulley (b) larger pulley (c) both the pulleys (d) None of these

Tractive force acts
(a) perpendicular to the line of stroke (b) along the line of stroke
(c) at45° to the line of stroke (d) at —45° to the line of stroke
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147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

5! T (T ) %1 &I H W& gU 7 9& (T,) o Eict U&7 (T, ) =1 I a1 T S |

(a) (T,-Tg) I(T,-T,) (b) (T, +Tp) (T, - T)
(¢) (T, +Tp) 3R(T,-2T) (d) (T, +Tg) 3R(T, + T)
fo® g % gl 1, o) ol W gk v 91 ol i E BaTe |
(a) 3feren (b) F4 (c) T9H (d) T & I T
Teh FTUTOT TIRR ¢ 3 forem fiRm <t =rshi fewn et fiem &hi feen & B g |
(a) Taada (b) TUH
(c) T gl TEl S Fehell (d) =9 3R fawdia, S &1 Hehdt 2
T YTk ST (HEh) & o1 S o1 o g 8 7
Sal, 1= ok i s

p=5ﬁ3°f3ﬁ‘v'i'®'[
(a) 1=2p—4 (b) 1=2p+4 (c) I=p+2 d I=p-2
TR et et  um B 2 |
(a) hael TATEET STEN (b) heet T e
(c) QI (a) 3R (b) (d) 70 B HIE T
HESINER-CRRITEIR CIu| foh g BT R |
(a) 38 ORSEIEI (c) gam (d) T

e (NI ) & S I 1A T8 ol YU A 39 e 2
(a) TEHhIRY  (b) argieeh Sfale  (c) Savrar gfekier (d) Fasft

Ffe v qen 31w fer % 31er foreh frer o o wm-arefi &, 41 3 e T = waa &
(a) BT (b) Afr=fsRe (c) TcaTed (d) wga

I fekd G=ROT & o, Siee <1 o BT 8
@ft Ifient =1 TEferd 312 R 1)

T T T 1T
(a) \/% (b) ‘/% (c) ‘/3:m (d) S ‘/%

n HISAT o Teh TohATII T ot S H (ATCETI0TeR) el shi et TEAT BT

n(n—1) n-1 n(n+1) n+1
(a) 5 (b) — (c) 5 (d) 5
%:eue’@gﬁ,@a’mwwaﬁwe TR |
2
(Fehdi o T AL B 1)
(a) B fert (b) &<t ot (c) TR (d) TH T+ T
faegsar_ @mrg|
(a) T W@ % A=Eq (b) T W@l fesm
(c) T W 45° B T (d) T T & —45° Bl IT

AME ' 25 Series-A



159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

In forging process, metal are shaped by

(a) Impact (b) Cutting (c) Heating (d) Drawing
Brass materials are welded by flame.
(a) Oxidising (b) Reducing (c) Heavy (d) None of these

Which of the following is not the fundamental type of welded joint ?
(a) Bead weld (b) Tack weld (c) Fillet weld (d) Saw weld

In which of the following welding process welds of good quality with minimum distortion
is obtained ?

(a) Laser beam welding (b) Electroslag welding

(¢) Arc welding (d) Gas welding

Which of the following is not a type of marking and measurement tool ?
(a) Try square (b) Surface gauge (c) Micrometer (d) Vice

Which of the following is not a correct statement for handling and use of tools in sheet metal
work ?

(a) Hold the instruments firmly for doing work.

(b) Cutting tools should have sharp edges.

(c) Use equipment with oil or grease on it.

(d) Keep micro measuring equipments at safe place.

In smithy, which of the following is not a striking tool ?
(a) Sledge hammer (b) Peen hammer (c) Hard hammer (d) Swage block

Which of the ferrous materials is having least weldability ?

(a) High carbon steels (b) Low carbon steels

(¢) Medium carbon steels (d) High alloy steels

Which of the following is not the cause of die-failure ?

(a) Improper die design (b) Overheating

(¢) Underloading of die (d) Misuse of die

The following materials can be used for making patterns :

(a) Aluminium (b) Wood (c) Plastic (d) All of these
Parallel blocks are used for

(a) Levelling machine tools (b) Setting workpiece horizontal

(c) Cutting parallel keys (d) Making parallel along an edge
Which of the following can be easily welded from flash butt welding process ?

(a) Tin (b) Lead (c) Castiron (d) Carbon Steel
Grey cast iron is usually welded by —

(a) Gas welding (b) Resistance welding

(¢) Arc welding (d) TIG welding

Which of the following is not direct reading type measuring instrument ?

(a) Telescoping Gauge (b) Micrometer

(c) Bevel protector (d) Dial Gauge
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159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

HIftT wfsken § ergaii bt BRI 3T fe S 2 |

(a) HTETE (FHUH) (b) T (c) S (d) GieH
et amft (qere) i ST R eg fShaT JTa 8 |

(a) IrrdieEiim (b)) frggfm (c) Wil (d) 3T A HIE T
=1 1 @ I Sos Sig Hifetsh TehT o1 doed g T& 8 ?

(a) stedes (b) ¢F I (c) Toheie aes (d) T

ot 7§ Topd o Wfshan # =aaw fa&qur o 9191 37! Jural 1 deg STed fohall St & 2
(a) I deed  (b) FORIEH degd  (c) 3Teh doed (d) 9 Jeeq
= o @ B T faga qen 21 3T S YR T8 7 7

(a) TRV T (TS TR (b) &&=

(c) HTgERHI (d) 9158

e 5 9 6 91 a7g =Tet R W ISR o W@ Ud Y31 o T H 7Teid A 8 7
(a) IUSHIN b T & Tehgeht B HEAT AT |

(b) e (i) ISR <Y AT ¥R BT =T |

(c) e AT G T IR T T Y |

(d) HewwTdt T T FUAT ToH WG |

AT | 1 T 8 6 91 98K i o1e7l 3SR A8l 2 2

(a) ®EAET  (b) W EIEl ORESERIS (d) T AT
g <ite Tmft (qered) <t Aesfiadn (Sesufafad) gaa Hu g ¢

(a) 3o P& ST (b) = HTeH $EITT

(c) TEIH HIEH ST (d) 3= firzreng somma

= o 9w g1 SE-faherd BT RO AE B

(a) ST 18 fesmea (b) TEI T SATET T &1

(c) STE h TS (d) TS 1 GEIART

= gft (qere) o1 ST Y w9 o foru foman ST EehaT B

() TgEFEE  (b) TR (c) e (d) =
THHTR scATeh] oh1 ITATT 39k fo1u fopam ST 2

(a) T TR TSR (b) HREGUE T Al €9 H T HH
(c) THIR it hTe- (d) ToFTR < BT THFTAR S

1 T O fohgen! 9iST S12 e Ik A ST & |1 dos fha T aehdar g 7

(a) fea (b) e (c) @l efter (d) =hreH SETd

T A 1R oh1 AR W ohEeh g dcs fha1 STaT 7

(a) T e (b) FfaQe dee (c) 3Teh Josd (d) TIG desd
1 T O 19 T Iouet U gRI A9 o JehR ST SYhIUT TEl § 7

(a) AT (b) HTSShIHIX (c) Soe IeFT (d) P IS
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173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

Which gas is used as a protection in carbon arc welding ?

(a) Carbon dioxide (b) Methane

(c) Carbon tetra flouride (d) No gas is used

The Copper and Brass sheets are

(a) Hard and Brittle (b) Malleable and Ductile

(c) Malleable and Brittle (d) Hard and Ductile

Sheet metal work is generally carried out only on the metal sheet.

(a) Forged (b) Cast (c¢) Rolled (d) None of these
Which of the following welding processes uses non-consumable electrode ?

(a) TIG welding (b) MIG welding

(c) Manual Arc welding (d) Submerged Arc welding

Which gases are used in Tungsten Inert gas welding ?
(@) CO,andH, (b) Argonand Neon (c) Argon and Helium (d) Helium and Neon

The material used for cooling the electrode is called

(a) Protective layer (b) Binder (c) Slag (d) Flux

Which of the following is termed as an action of pull or push of a body at rest or motion ?
(a) Force (b) Torque (c) Momentum (d) Work

Which of the following forces do not cause the rotation ?

(a) Non-parallel (b) Non-concurrent (c) Parallel (d) Concurrent

Determine the moment of the force along point P. A force of 75 N is acting at the end of bar
at R as shown.

(a) 100 Nm (b) 112.5 Nm (¢) 157.6 Nm (d) 121 Nm
Which of the following is a scalar quantity ?
(a) Speed (b) Force (c) Velocity (d) Acceleration

In which direction should the force be applied to balance a force in the direction of North-
East ?
(a) South-West (b) North-East (¢) South (d) West

The resultant of two equal forces P making an angle ‘0’ is given by

0 . 0 0
(a) 2P cos 5 (b) 2P sin (c) 2P (d) 2P cosec 5
The centroids of the triangles separate the medians in ratio.
(a) 4:1 (b) 3:1 (c) 2:1 (d) None of these
Varignon theorem is used to find
(a) position of resultant force (b) direction of resultant force
(c) magnitude of resultant force (d) nature of resultant force
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

ST 31Tk dog H GueaT o &9 | form g o1 3ui fohan Sran & 2

(a) TS SEHTFTES (b) A

(c) HTEF 2T FINISS (d) TS T =9I &1 el

dtel 3TR didet <t =mel Bt 8

(a) FORTIHR  (b) oTleh IRAA  (c) TTel INWR  (d) H3R IR T
9Tq FTEL 1 I T o1q =Tet | fopan ST 2 |

(a) ISt (b) @& (c) T (d) S & IS T
1 o O fore o Tfsharn I TR-3UMSYT SIS o1 SUANT fhaT ST 8 ?

(a) T (TIG) aeeA (b) T (MIG) ee

(c) B 3Teh doe (d) TEHSE 3Teh Jogd

e fAfsspar (340) | e § fopa Tl <1 3uimT fopam ST 2 2
(a) CO,3IRH, (b) JIMHIRFER (c) 3 AR AfeTm (d) Fiferam 3k fa
THFLIE Bl 3T i o o7 TR U1l ol gl ST &

(a) L&A L Tl WA (b) SIS ITAT (TT3UST)

(c) HTgHe (¥HT) (d) TR

=1 4 9 forg formmereen = nifq W fope) fuvg & iR T aem A Hi o AT hed 8 2
(a) = (b) STl (S-S0 (c) Ferm (d)

{3 T @ I |1 e U T SHRT T ST R ?

(a) W-FAFTR  (b) - (c) FHMR (d) Tt

feig P % Irgfew sof-31mepe! 31 HITT | 75 N 1 5t foig R T &g o 37d § il oL TaT 7, S
fop o T 7 |

(a) 100 Nm (b) 112.5 Nm (¢) 157.6 Nm (d) 121 Nm
fedasndi s sfemafor g 2

(a) T (b) & (c) o (d)

I o1 ht 3T T It F ol Tgferd i o foTu forer feem & sre1 e =nfee ?
(a) Sfqur-ufeeam  (b) SR-g& (c) cferor (d) ufeem

‘0’ IV S Tt &1 THH Sl P <1 TN BiT &

(a) 2P cosg (b) 2P sing (c) 2P (d) 2P cosecg
il 3 hegeh HTEhTT I AT H Y2 A ¢ |

(a) 4:1 (b) 3:1 () 2:1 (d) 39 T ®I T
EIRCIERs T kiR T & o fote fepan T 2 |

(a) Ui 5ot i fearfa (b) Tfomdt et st feem

(c) witoTTHt set &1 qieHTor | (d) TioTTHY w1et <hl wepfer
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187. The parallel axis theorem (Moment of Inertia) uses the of the distance.

(a) square root (b) square (c) cube root (d) cube
188. Determine the moment at fixed end of the cantilever beam as shown below :
2%2m% 10N 20 N/m
2 8 m >I
(a) 180 Nm (b) 840 Nm (¢) 260 Nm (d) 660 Nm
189. positive/negative bending moment occurs where shear force changes its sign.
(a) Minimum (b) Zero (¢) Maximum (d) Remains same
190. Which of the following does not affect frictional force ?
(a) Surface roughness (b) Reaction of surface
(c) Area of contact (d) Force tending cause motion

191. Moment of inertia of a semicircle about its centroid axis is equal to
where r = radius of semicircle

(a) 02213 (b) 0.11r* (c) 0.14r* (d 02r*
192. friction is the value of the limiting friction just before slipping occurs.
(a) Dynamic (b) Static (c) Sliding (d) Rolling

193. A planar body is lying in XZ plane. What is the relation between its Moment of Inertia (I)
along the X, Y and Z axes ?

(@ L=+, () L=+, () Iy=14+1, d Ik=I,=1,
194. In a lever system, the point about which the lever rotates is called

(a) Effort (b) Load

(¢) Fulcrum (d) Mechanical Advantage

195. Which of the following is not a type of Mechanical advantage ?
(a) Velocity ratio (b) Leverage ratio (c) Force ratio (d) Efficiency ratio

196. In a lifting machine, if the removal of effort does not result in lowering of load, the machine
is .
(a) self locking (b) reversible (c) efficient (d) fixed
197. A machine raised a load of 360 N through a distance of 200 mm. The effort, a force of 60 N
moved 1.8 m during the process. The velocity ration will be :
(a) 6 (b) 7 (c) 8 (d) 9
198. All the vector quantities obey
(a) Parallelogram law of addition
(b) Parallelogram law of multiplication
(c) Parallelogram law of addition of square root of their magnitudes
(d) Parallelogram law of addition of square of their magnitudes

199. Which of the following is not a heat treatment process for steel material ?
(a) Annealing (b) Normalising (c) Hardening (d) Sinking

200. Atomic Packing factor of BCC crystal and FCC crystal respectively are
(a) 0.74 and 0.68 (b) 0.68 and 0.74 (¢) 0.524and 0.68  (d) 0.527 and 0.74
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187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

AR A& T (TS ST G h T STAMT LAl & |
(a) ST (b) = (c) =Y (d) =
e gt e T (Fefier) 9 o areg R ae stmept A hif

e 2m— s 10N 20 N/m

AAONNNNNNN

8m >||
(a) 180 Nm (b) 840 Nm (¢) 260 Nm (d) 660 Nm
_ TCHeh/RVTICHe Sehd STTUI BIAT & STal ST 9 7T g seed @ |
(a) I (b) & (c) 3fereham (d) T & E |
1 o & B 7 = s/t b1 e TR AT R 7
(a) TAg T GEUIH (b) g i gfafsrn
(c) TvIeh 1 & (d) it BT T S 1T A
FTE 1 3T-TATR I <hl 21 21, 1 hreh 3187 o ATUE ST -TATehR I ol Secd 01 2T
(a) 02213 (b) 0.11r* (c) 0.14r* (d) 02r*
Y fhHe 4 Sk Tgol i e h1 A= # |
(a) Tricrefiet (b) f&r (c) et (aeiom) (d) e

XZ O H U ety fig W gan g | X, Y 3R Z 31eqi & Ifew 39 S AT (1) < =
AT G BT 7

@ L=I +I, (b) Iy=I,+1, () Iy=I +1, d) Iy=T,=1,
T e oret #, fr foig % TRl R offet g 81, SR FEd 8 ¢

(a) SE (b) 9N (c) TeTshd (d) AT &y
=1 U O e T ek T BT TR T © 7

(a) SIgATd (b) SflatS A (c) oA IguTd (d) Q¥ 3T
Teh 33M oTeAt TRfi | Ife T bl B W UR i< 78 317d1, O 939 8

(a) HeHAMHT (b)) fcrare (c) && (d) fer

Tk WA 9 200 mm (Firefl) <A1 gt %k 360 N <1 WR 33T | sk 3 SR 60 N <1 T 1.8
i Teh =T AT | ST AT B0 :

(a) 6 (b) 7 (c) 8 (d 9

gt gfew TRwmE! e w8

(a) Gﬁawwwgﬁaﬁm

(b) T T

(c) mqﬁmﬁ%wﬁﬂﬁﬁsﬁ@wmﬁm

(d) 3ok TTCATOTT < T <l S o1 AHHTEq =

e o 9 o 1 gerd g & fo aw SR afsr i @ v

(a) 3o (b) TTHTAHTT (c) AR (d) g

BCC Tsr&ed Ta FCC Toreeet o qaTy] ¥fchT hieh husl: &

(a) 0.74 30.68 (b) 0.68 3T 0.74 (c) 0.524 3T 0.68 (d) 0.527 31K 0.74
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